

Second Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Elementary Education		
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee	_	253.00
Total	P	55,083.00
INSTALLMENT BASIS		144
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,041.50
c. 2nd Installment - 75 days after the 1st day of classes		23,041.50
TOTAL	P	55,083.00
CASH BASIS (At 5% discount)	P	52,328.85

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Elementary E	ducatio	n
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P	65,476.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	P	62,202.20
SACCE CONTRACTOR OF THE CONTRA		02,202120

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Elementary E	ducatio	n
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	56,196.00
INSTALLMENT BASIS		20.7
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,598.00
c. 2nd Installment - 75 days after the 1st day of classes		23,598.00
TOTAL	P	56,196.00
CASH BASIS (At 5% discount)	P	53,386.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Elementary	Educatio	on
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P	66,589.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,794.50
c. 2nd Installment - 75 days after the 1st day of classes		28,794.50
TOTAL	P	66,589.00
CASH BASIS (At 5% discount)	Р	63,259.55

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Elementary I	Educatio	n
ASSESSMENT		
Basic Tuition fee (16.5 x 1,775/unit)	Р	29,287.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee	_	244.00
Total	P	41,402.50
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		16,201.25
c. 2nd Installment - 75 days after the 1st day of classes		16,201.25
TOTAL	P	41,402.50
CASH BASIS (At 5% discount)	Р	39,332.38

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year –International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Elementary E	ducatio	n
ASSESSMENT		
Basic Tuition fee (16.5 x 1,775/unit)	Р	29,287.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Other fees	_	10,041.00
Total	P	51,443.50
INSTALLMENT BASIS		V97 cm
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		21,221.75
c. 2nd Installment - 75 days after the 1st day of classes		21,221.75
TOTAL	P	51,443.50
CASH BASIS (At 5% discount)	P	48,871.33

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

BS Exercise and Sports Science major in F	itness &	Sports Mgmt
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee	_	253.00
Total	P	55,083.00
INSTALLMENT BASIS		10.0
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,041.50
c. 2nd Installment - 75 days after the 1st day of classes		23,041.50
TOTAL	Ρ	55,083.00
CASH BASIS (At 5% discount)	P	52,328.85

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

BS Exercise and Sports Science major in Fi	tness &	Sports Mgmt
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P _	65,476.00
INSTALLMENT BASIS		Whin
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	P	62,202.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

BS Exercise and Sports Science major in F	itness &	Sports Mgmt
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
FSM1106 Thesis Defense fee		2,210.00
FSM1206 Thesis defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	58,406.00
INSTALLMENT BASIS		WILLIN
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		24,703.00
c. 2nd Installment - 75 days after the 1st day of classes		24,703.00
TOTAL	P	58,406.00
CASH BASIS (At 5% discount)	P	55,485.70

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

BS Exercise and Sports Science major in F	itness &	Sports Mgmt
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
FSM1106 Thesis Defense fee		2,210.00
FSM1206 Thesis defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	Р	68,799.00
INCHALL AMENIT DA CAC		on the fill
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		29,899.50
c. 2nd Installment - 75 days after the 1st day of classes		29,899.50
TOTAL	P	68,799.00
CASH BASIS (At 5% discount)	Р	65,359.05

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

BS Exercise and Sports Science major in F	itness &	Sports Mgmt
ASSESSMENT		
Basic Tuition fee (22.5 x 1,775/unit)	Р	39,937.50
Miscellaneous fees		11,621.00
FSM1302 Lab fee		2,052.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Total	P	54,104.50
INSTALLMENT BASIS		YII m
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		22,552.25
c. 2nd Installment - 75 days after the 1st day of classes		22,552.25
TOTAL	P	54,104.50
CASH BASIS (At 5% discount)	Р	51,399.28

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

BS Exercise and Sports Science major in F	itness &	Sports Mgmt
ASSESSMENT		
Basic Tuition fee (22.5 x 1,775/unit)	Р	39,937.50
Miscellaneous fees		11,621.00
FSM1302 Lab fee		2,052.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Other fees	-	10,041.00
Total	P	64,145.50
INSTALLMENT BASIS		Thin
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		27,572.75
c. 2nd Installment - 75 days after the 1st day of classes		27,572.75
TOTAL	P	64,145.50
CASH BASIS (At 5% discount)	P	60,938.23

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

major in	English
Р	41,535.00
	11,972.00
	1,064.00
	259.00
_	253.00
P	55,083.00
	10.1
Р	9,000.00
	23,041.50
	23,041.50
P	55,083.00
P	52,328.85
	P

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education r	najor in	English
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P	65,476.00
INSTALLMENT BASIS		Thin
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	P	62,202.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Secondary Education r	major in	English
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
SEE1116 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	58,329.00
INSTALLMENT BASIS		Whin
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		24,664.50
c. 2nd Installment - 75 days after the 1st day of classes		24,664.50
TOTAL	P	58,329.00
CASH BASIS (At 5% discount)	P	55,412.55

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Secondary Education	n major in	English
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
SEE1116 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees	E	10,393.00
Total	Р	68,722.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes	s	29,861.00
c. 2nd Installment - 75 days after the 1st day of classe	es	29,861.00
TOTAL	P	68,722.00
CASH BASIS (At 5% discount)	P	65,285.90

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education n	najor in	English
<u>ASSESSMENT</u>		
Basic Tuition fee (19.5 x 1,775/unit)	Р	34,612.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Total	P	46,727.50
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		18,863.75
c. 2nd Installment - 75 days after the 1st day of classes		18,863.75
TOTAL	P	46,727.50
CASH BASIS (At 5% discount)	P	44,391.13

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education	major in	English
ASSESSMENT		
Basic Tuition fee (19.5 x 1,775/unit)	Р	34,612.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Other fees	_	10,041.00
Total	P	56,768.50
INSTALLMENT BASIS		Wit ma
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,884.25
c. 2nd Installment - 75 days after the 1st day of classes		23,884.25
TOTAL	P	56,768.50
CASH BASIS (At 5% discount)	P	53,930.08

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

ajor in Ma	athematics
Р	41,535.00
	11,972.00
	1,064.00
	259.00
_	253.00
P	55,083.00
	10.1
Р	9,000.00
	23,041.50
	23,041.50
P	55,083.00
Р	52,328.85
	P

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education maj	or in M	athematics
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P _	65,476.00
INSTALLMENT BASIS		Whin
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	P	62,202.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Secondary Education ma	jor in Ma	athematics
<u>ASSESSMENT</u>		
Basic Tuition fee (23.5 x 1,846/unit)	Р	43,381.00
Miscellaneous fees		11,939.00
SEM1110 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	Р	60,175.00
INSTALLMENT BASIS		WIL II
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		25,587.50
c. 2nd Installment - 75 days after the 1st day of classes		25,587.50
TOTAL	P	60,175.00
CASH BASIS (At 5% discount)	P	57,166.25

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

ajor in Ma	athematics
Р	43,381.00
	11,939.00
	2,133.00
	2,210.00
	259.00
	253.00
	10,393.00
Р	70,568.00
	0.1
Р	9,000.00
	30,784.00
	30,784.00
P _	70,568.00
P	67,039.60
	P P

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education maj	or in Ma	athematics
<u>ASSESSMENT</u>		
Basic Tuition fee (19.5 x 1,775/unit)	Р	34,612.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Total	P	46,727.50
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		18,863.75
c. 2nd Installment - 75 days after the 1st day of classes		18,863.75
TOTAL	P	46,727.50
CASH BASIS (At 5% discount)	P	44,391.13

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

najor in Ma	athematics
Р	34,612.50
	11,621.00
	250.00
	244.00
_	10,041.00
P	56,768.50
Р	9,000.00
	23,884.25
	23,884.25
P	56,768.50
Р	53,930.08
	P

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Physical Education		
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	55,083.00
INSTALLMENT BASIS		10.0
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,041.50
c. 2nd Installment - 75 days after the 1st day of classes		23,041.50
TOTAL	P	55,083.00
CASH BASIS (At 5% discount)	P	52,328.85

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Physical Ed	ucation	
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees	-1	10,393.00
Total	P	65,476.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	P	62,202.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Physical Education		
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
PED1202 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	58,329.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		24,664.50
c. 2nd Installment - 75 days after the 1st day of classes		24,664.50
TOTAL	P	58,329.00
CASH BASIS (At 5% discount)	Р	55,412.55

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Physical Ed	ducation	
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,939.00
PED1202 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P	68,722.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		29,861.00
c. 2nd Installment - 75 days after the 1st day of classes		29,861.00
TOTAL	P	68,722.00
CASH BASIS (At 5% discount)	P	65,285.90
CASH DASIS (At 5 /0 discount)		03,203.90

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Physical Edu	ucation	
<u>ASSESSMENT</u>		
Basic Tuition fee (16.5 x 1,775/unit)	Р	29,287.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Total	P	41,402.50
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		16,201.25
c. 2nd Installment - 75 days after the 1st day of classes		16,201.25
TOTAL	P	41,402.50
CASH BASIS (At 5% discount)	Р	39,332.38

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year –International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Physical Education		
ASSESSMENT		
Basic Tuition fee (16.5 x 1,775/unit)	Р	29,287.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Other fees		10,041.00
Total	P	51,443.50
INSTALLMENT BASIS		La I
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		21,221.75
c. 2nd Installment - 75 days after the 1st day of classes		21,221.75
TOTAL	Ρ	51,443.50
CASH BASIS (At 5% discount)	P	48,871.33

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Special Needs Education		
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	55,083.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,041.50
c. 2nd Installment - 75 days after the 1st day of classes		23,041.50
TOTAL	P	55,083.00
CASH BASIS (At 5% discount)	P	52,328.85
	n =	

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Special Needs	Educatio	n
ASSESSMENT		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	Р _	65,476.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	P	62,202.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Special Needs Education		
ASSESSMENT		
Basic Tuition fee (19.5 x 1,846/unit)	Р	35,997.00
Miscellaneous fees		11,939.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	50,658.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		20,829.00
c. 2nd Installment - 75 days after the 1st day of classes		20,829.00
TOTAL	P	50,658.00
CASH BASIS (At 5% discount)	Р	48,125.10

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Special Needs	Educatio	n
ASSESSMENT		
Basic Tuition fee (19.5 x 1,846/unit)	Р	35,997.00
Miscellaneous fees		11,939.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P	61,051.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		26,025.50
c. 2nd Installment - 75 days after the 1st day of classes		26,025.50
TOTAL	P	61,051.00
CASH BASIS (At 5% discount)	Р	57,998.45

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Special Needs E	ducatio	n
ASSESSMENT		
Basic Tuition fee (16.5 x 1,775/unit)	Р	29,287.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Total	P	41,402.50
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		16,201.25
c. 2nd Installment - 75 days after the 1st day of classes		16,201.25
TOTAL	P	41,402.50
CASH BASIS (At 5% discount)	Р_	39,332.38

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Special Needs	Educatio	n
<u>ASSESSMENT</u>		
Basic Tuition fee (16.5 x 1,775/unit)	Р	29,287.50
Miscellaneous fees		11,621.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Other fees		10,041.00
Total	P	51,443.50
INSTALLMENT BASIS		20.7
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		21,221.75
c. 2nd Installment - 75 days after the 1st day of classes		21,221.75
TOTAL	P	51,443.50
CASH BASIS (At 5% discount)	P	48,871.33

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – Local Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education	Major in	Science
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Total	P	55,083.00
INSTALLMENT BASIS		A-0.5
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		23,041.50
c. 2nd Installment - 75 days after the 1st day of classes		23,041.50
TOTAL	P	55,083.00
CASH BASIS (At 5% discount)	P	52,328.85

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Second Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education	Major in	Science
<u>ASSESSMENT</u>		
Basic Tuition fee (22.5 x 1,846/unit)	Р	41,535.00
Miscellaneous fees		11,972.00
GED0119 Lab fee		1,064.00
WRP0203 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees		10,393.00
Total	P	65,476.00
INSTALLMENT BASIS		WILL
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		28,238.00
c. 2nd Installment - 75 days after the 1st day of classes		28,238.00
TOTAL	P	65,476.00
CASH BASIS (At 5% discount)	Р	62,202.20

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Secondary Educati	on Major in Scier	nce
ASSESSMENT		
Basic Tuition fee (26.5 x 1,846/unit)	Р	48,919.00
Miscellaneous fees		11,939.00
SES1106 Lab fee		917.00
SES1107 Lab fee		917.00
SES1109 Lab fee		917.00
SES1110 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee	据 閱 W	253.00
Total	Р	68,464.00
		- 0 0 0 E E
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		29,732.00
c. 2nd Installment - 75 days after the 1st day of classes		29,732.00
TOTAL	P	68,464.00
CASH BASIS (At 5% discount)	Р	65,040.80

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Third Year – International Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Secondary Educa	ation Major in Scienc	e
ASSESSMENT		
Basic Tuition fee (26.5 x 1,846/unit)	Р	48,919.00
Miscellaneous fees		11,939.00
SES1106 Lab fee		917.00
SES1107 Lab fee		917.00
SES1109 Lab fee		917.00
SES1110 Lab fee		2,133.00
TED1105 Thesis Defense fee		2,210.00
WRP0105 Learning Journey fee		259.00
ID Maintenance fee		253.00
Other fees) (b	10,393.00
Total	P	78,857.00
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		34,928.50
c. 2nd Installment - 75 days after the 1st day of classes		34,928.50
TOTAL	P	78,857.00
CASH BASIS (At 5% discount)	Р	74,914.15

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – Local Students
Tuition and Other Fees
First Semester, SY 2022-2023

Bachelor of Secondary Education	Major in	Science
ASSESSMENT		
Basic Tuition fee (19.5 x 1,775/unit)	Р	34,612.50
Miscellaneous fees		11,621.00
SES1118 Lab fee		886.00
SES1120 Lab fee		886.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Total	P	48,499.50
INSTALLMENT BASIS		Whin
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		19,749.75
c. 2nd Installment - 75 days after the 1st day of classes		19,749.75
TOTAL	P	48,499.50
CASH BASIS (At 5% discount)	Р	46,074.53

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.



Fourth Year – International Students Tuition and Other Fees First Semester, SY 2022-2023

Bachelor of Secondary Education M	⁄lajor in	Science
<u>ASSESSMENT</u>		
Basic Tuition fee (19.5 x 1,775/unit)	Р	34,612.50
Miscellaneous fees		11,621.00
SES1118 Lab fee		886.00
SES1120 Lab fee		886.00
WRP0107 Learning Journey fee		250.00
ID Maintenance fee		244.00
Other fees	_	10,041.00
Total	P	58,540.50
INSTALLMENT BASIS		
a. Down payment	Р	9,000.00
b. 1st Installment - 45 days after the 1st day of classes		24,770.25
c. 2nd Installment - 75 days after the 1st day of classes		24,770.25
TOTAL	P	58,540.50
CASH BASIS (At 5% discount)	P	55,613.48

Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.

REV. 01 - 07/20/22



Note: To be entitled to a 5% cash discount, the student should have paid at least 95% of the total assessed fees within ten (10) calendar days from start of classes.